W/ N\O—7)— R RANRENTGVA—k  <EF29FE> Fp2949H NO—T—HRKAR

& TR/ A\—F
BERE | HER A |BakA =] FTERE | HHRRA i ” 5t B | ESRA |awkAs=] FERE | HiEKA

| 982 | 7063 | 108 | 222 | 356 637 | 648 | 102 | 758 | 233
- 4 - - 2 T H M B % - - - - -
7 188 2.41 2 59 |E MK - B fit B9 B X 36 57 1.58 9 13
6 9 1.50 3 1 B £ 3 i & - - - - -
6 15 2.50 1 6 i & # fit7 & 1 - - 0 -
1 39 39.00 1 16 Z & - + K ¥ 1 & % 1 — — 1 —
5 4 0.80 1 2 F RN E - B E R WM& - — — - —
2 2 1.00 1 1 z O M o ¥ W & 1 — — 0 —
1 5 5.00 1 0 E B . = ¥ B % - 8 — — 0
20 54 2.70 8 14 B’ & M . B E M % 9 24 267 3 5
1 17 17.00 0 5 S b K 7 & 3 10 3.33 0 2
10 6 0.60 5 3 0O M 0 R B E & 3 1 0.33 0 0
14 24 1.71 3 7 # 2B 05 M B E 14 13 0.93 4 5
4 8 2.00 2 4 EWR. T A4 F — % - - - - -
8 5 0.63 2 0 0O i o0 B M om OB % 4 1 0.25 1 1
185 68 0.37 34 25 = B M B = 116 47 0.41 36 25
161 34 0.21 26 12 — % = 7% ] 110 42 0.38 30 25
8 6 0.75 2 4 & it E3 75 g 2 1 0.50 2 0
11 22 2.00 4 8 4 E B E T ¥B B 3 — — 3 —
3 5 1.67 1 1 ¥ - R = B &#E £ K B — 3 - — 0
- - - - - Ay ) = % 8 - - - - -
1 1 1.00 1 0 B B - # [ T OB B 1 1 1.00 1 0
1 — — 0 - F HE A B = BRE OB E 0 — - 0 -
55 64 1.16 14 19 R & O B %X 51 44 0.86 10 11
39 17 0.44 9 5 m @ Bk = o B OZ 49 44 0.90 10 11
1 - - 0 - Bk 5 %8 L o B OFE 1 - - 0 -
15 47 3.13 5 14 = ES ) ) ¥ 1 — - 0 —
119 214 1.80 32 62 |y — E X 0O B % 99 289 2.92 27 95
- - - - - X E £ & X B Y —E X - - - - -
62 126 2.03 15 36 f+ 8 4 — F 2 0 B ¥ 35 133 3.80 11 39
6 12 2.00 3 1 g B E BB %+ — E R 7 11 157 1 5
1 8 8.00 1 5 £ F B £ ¥ — E R 3 4 1.33 0 1
19 25 1.32 4 9 % & 9 @ OB o B O 24 73 3.04 4 29
23 31 1.35 7 8 B B - # £ o B ZE 25 57 2.28 10 15
3 2 0.67 0 1 B X i % - E L O & B 1 2 2.00 0 0
5 10 2.00 2 2 Zz O fth O Y — F R B % 4 9 2.25 1 6
8 6 0.75 1 0 5 5 0 K X 1 6 6.00 0 2
5 7 1.40 1 0 BE KR X0 B X 4 7 1.75 2 2
253 340 1.34 71 127 | E T 88 0O B % 84 111 1.32 31 52
2 7 3.50 0 2 ¥ E OB B (£ B ) 0 — - 0 -
2 4 2.00 2 1 4 E Z w (£ B B <) - - - - -
- - - - - 4 E OK ® O ( ¥ W ) - - - - -
35 79 2.26 9 25 2 B # H & £ =% 2 7 3.50 0 2
28 54 1.93 9 25 8 o5 8 & m T & B 10 27 2.70 6 10
147 123 0.84 44 45 m W 8 2 o B Z 46 37 0.80 13 18
11 14 1.27 4 2 IR R E: 3 4 1.33 1 0
0 17 - 0 2 # 5 B 7B (2 B ) 2 13 6.50 2 5
2 9 450 0 4 82 2 Bk &' (2 B KB <) 4 6 1.50 3 2
18 15 0.83 2 6 m W B’ T o B Z 6 15 0.94 5 13
8 18 2.25 1 15 & E B & - &£ E £ Bl 1 2 2.00 1 2
56 60 1.07 16 21 EX-H#BEHEREORX 9 12 1.33 3 3
- - - - - % B E & o B F - - - - -
39 55 1.41 12 20 B ® = E & 0O B ¥ 7 12 1.71 1 3
- - - - X B - W % % 8 & - - - - -
5 - - 0 - T 0O o0 E E O OB OE 1 — - 1 -
12 5 0.42 4 1 OB - B2 R O# W & & 1 - - 1 —
24 69 2.88 8 24 | & -8B E OB X 5 6 1.20 1 4
1 13 13.00 0 3 B % K B I = 0 B OE - 1 — — 0
2 9 450 2 0 2 B ) ) ¥ 1 1 1.00 0 1
8 11 1.38 2 6 E & I = 0 B % 2 — — 1 —
13 33 2.54 4 14 T PN ) ) ¥ 2 4 2.00 0 3
0 3 - 0 1 % biF D 54 £ - - - - -
104 43 0.41 12 17 | EHR-BREOEE 161 69 0.43 37 26
17 22 1.29 5 10 B % ) ) #l 19 22 1.16 5 12
20 2 0.10 3 0 & = ) ) 2l 4 27 0.66 13 8
0 1 - 0 1 a 3 ) ) ¥ 0 2 - 0 0
67 18 0.27 4 6 0Ot 0 E W ZE 0 B OE 101 18 0.18 19 6

95 - - 5 - 9 8 X E O RZE 71 0.00 2
43 121 2.81 13 52 ( IT g & it N 10 10 1.00 3 4
11 21 1.91 4 8 ( IT % #h B & /M & ) 1 — — 0 —
7 15 2.14 2 12 (ImT # % B & /I & ) 1 — — 1 —
25 85 3.40 7 32 (m & & B & /N & ) 8 10 1.25 2 4
91 205 2.25 25 56 ( #&# # B & & )| 53 168 3.17 17 48
71 142 2.00 17 39 C f# # BH &#= N 2 | 42 140 3.33 13 42
20 63 3.15 8 17 ( = ® M /N 3 N 11 28 255 4 6

\ ) BB X BmEs - Z B 2 PR L [B Cdp o
MEDERIE, NOA—T—IHRITBHEINRARVRBT —4EEIERLTOETS,



